— BB B3 Txm 4/11 #ak -un -9

A 1 2 3 || m= |@r-u|xr-4| = | B
1 FEtkO 5 JA ® 1 1/2 2
2 | #oF— | o0 1| o2 3
3 HEERE | © @ 2/2 1
B | 2 3 4 || m= (mru|xr-i] 2 | E&
1 h&y S5 JA @ @ ©) 3/3 1
2 =LA 1 1 ©) 1/3 3
3 |BzicustEseLE] 1 @ ® 2/3 2
4 BB | R R R 0/3 —4
c 1 2 3 s | = [wru|xr-i] 2 | B
1 | rxnEs57 ® ® ® 3/3 1
2 | REINYSZT| 0 0 ©) 1/3 3
3 FRRE ©) ©) 2/3 2
4 | HE%YSTB| R R R 0/3 —
D 1 2 3 || m= |@r-u|xr-4| = | B
1 &y 57 1 @ 1/2 2
2 =&ETC | @ @ | 22 i
3 | hEsS5TB| 1 0/2 3
— BB FIELLRE h—F A > b
T h—F A2 b
1 (M) MRS 0 I @ (Cif) s rEnEs5T 3
0
2 B $EHS5TA > ‘ O  =&ETC 4
2 b—F AL b (B IEHE)
1 A2k HAES S IA 0 | @ ) mmxE 3
o\ [B=I2ULA = 0 @ " = —
2 B2 Moo —d D2 ST 4
3 fB (B L HE)
1 (03 thgsSTB _|.®_ 3 (C3) %RENYST .|.®_
2 BD mRyIT — 4w FrF— ——




